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@ JISAS P Y2 S (BUIRN 242 2e))
— YLhetd] o S| F Y| AIEY| 1,700,0008 %23 3,400,000 &
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@ ANspelYges 7Y L B4
—AEBRYPeE XHHTY L 24| 500,0008%12) 6,000,000 2
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B 47,710,000 &
4220 Agtaely) 2,881,795 2,282,326 599,469
4221 203,530 123,355 80,175
o5l D= © ZHLEM HARFII2 E2H| 1,600,0008 * 2 35,200,000 &
© AEXIL IS WS, 2| 100,00081+23]+1 200,000 2
® K_MoveA 2 At 3,000,000 574 2t B +2 % +23] 60,000,000 &
© HHEHSIALS 3,000,000%20H D& #2223 24,000,000 &
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@ BIEoH SEAL 225,000 x4 T2 x25H | 1,800,000 &
@ SRS HRESEZ 2500008 %1 G258 )| 500,000 &
@ SRS ARSI 225 000 5T B*2 K «25! 4,500,000 &
@ BHEOH J|EHASE 2 225,000 *1 HSA5H #2584 2,250,000 &
@ BMASOHLIEFA BHH 208 1,500,000 9«38«25t )| 9,000,000 &
© WA 20LIHEI0] B 208 500,000 x5 <25t 5,000,000 &
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o = 20233 HAE | 202231 HE = roron
20 | 3XEY 0l A e ME3 29
o g = (A) (8) (A8)
B 108,850,000 %
4329 1,280,173 583,025 697,148
plISEREN] ® HSleS2NAY 2U8EYSNY
—2282 U 22N HSLIE S 35,380,000+ 60,018,000 &
EHR 5 9,982,00021+4= 2, B4 & 4,000,000 13,982,000 2
ORSPIEN=E P E==
—QIR A0S LHHIN0 S SM2LS 150,000 90,000,000 2
OFnE L=
—AMEHA A1 BIRY| 12%90,00081+23] 180,000 &
—&LEEAF OT 28I 60%* 30,0002 23] 3,600,000 &
—AEAF £BA Y 29| 602+ 40,0008 * 23] 4,800,000 &
—AEHAL DR 2| 70,0002 108|x281 | +AITH 50, 2,400,000 &
—ZOHARZE 246 +THELOIH 200,000 108!+ 4,000,000 2
—QIEI AFEFAF £ THHI & H] 30,0002 *8%+23] 480,000 2
—AEFAR 8 202S] 2 ALARE] 10,000+50 % %23 1,000,000 2
—2HAl 9 ADE 260,0002*28] 520,000 &
® WY, B2 A L SE 2| 20,0008%10) 4,000,000 &
® 20t S DE XY 20,0008 +10E*4T 2447 3,200,000 &
® SRLLF2D 100,000 <3847 E 1,200,000 2
® ELFHSHAS 2 100,000 20 2,000,000 &
® ELFHSHYS 52 200,000 +20% 4,000,000 &
© Bt AHHIOF 01 200,000 %23 400,000 &
® AL SEHHE L IIEHHAIHIR 50,0002 502 +43 10,000,000 &
© YE, THAAE S ABOIREM #AH 20,0002+ 2,000,000 &
® YEII2HE SBAR 20,0008 +50%+13] 1,000,000 2
® 2I=QIR M ALK 10,0008*50L*23] 1,000,000 2
® 2I=2QIRstA TIef 170,0008+153] 2,550,000 &
® QIAHOIL, HINL NS S I ZEXA A 1,000,000 2
© QIROIs MOl U S JEFH AN 20,0002 50 1,000,000 2
® AlHl 906,000 81241 %20 21,600,000 2
® 2 WIHHI 90%+10,0008! 900,000 &
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o = 20233 HAE | 202231 HE = roron
20 | 3XEY 0l A e NET= 29
o g = (A) (8) (A8)
© FAAHSHUBAY 6,000,0008 6,000,000 &
@UENLITA KA DH
—Al/ 2HALH] 12,0002 %5002 * 1141 %23 132,000,000 2
—QIM 24 AL 244H| 17,0002 %500 +23] 17,000,000 &
—22H] 273,500,0002%23] < £ 4, 2= HE 22| 547,000,000 &
@USNLITA RADE XAAE 25 2H
—H QA2 HH| 20,0002 1352 2,700,000 2
—BEMIIX DS AlZFAIH| 12,00021%135% 1,620,000 2
ZEMIIRDSY| 2HAH] 2,00081%135% 270,000 2
—XISiAtS] AFSHEIE WA IBSH AlZFAE 12,00 1,620,000 2
—XISiANS] AFSHEIS WA ABSH £HEIF 35,000 5,075,000 &
— Q1AL X ZH| 35,0008 *3AI2H+32x23] 630,000 &
—XISiANS] AFSHEIS WA 2AESHI100,0002 +35] % 600,000 &
@UENLXTA R D 828 KA A A
—2HALH] 2,000 %1202 %35 %25t | 1,440,000 2
—2EH| 5,0002*800% 4,000,000 &
® H2EX 1,000 1,000 2
® ZHLE HHRIH M= 6,0002 %3002 +138¢D)] 1,800,000 &
® ZZM 88X R
— 502%10,0000H 500,000 &
© HTAALZ D4 30,0008 +52 3 450,000 2
© HBAAZ 27HH 20,0002 %5412t 12 1,200,000 &
© AUM Q2IONE|0l& 2AI: A THHLOIH: 100,00 300,000 &
© AN DIME|0I& A 4HH100,0002 +1 100,000 &
® SIHUALRE YABRADS LA 100,000 * 500,000 2
® SHHUA2RE ZEHDS LAl 20,0002 %5412 1,200,000 2
® SIHUA RS A ABE: 32,0008%110Y 3,520,000 &
® AXNSE HSAHEIT ZAHEI AHEFOIK: 100,0( 9,000,000 &
© QIE FEATBIF A 278k 100,00021*3A 8,400,000 &
® Ol MO T S8 AFEHH]: 100,00081 %45« 122 4,800,000 &
24422 A& 100,000 *88+281 ) 1,600,000
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Jo

20233 A A =

20223 A

_ = ooty = Az 2 o
o g = (A) ‘
® ZAHH: 2 =& AHHOI0IM S: 75,0003 3 225,000 &
® === HOIA & LHAI: 3,200 «100H 320,000 &
@ Ae|ZAF EF 2 MMPI 5,000& %4002 +TCl 3,1 4,140,000 &
@ ol #IHHIAE A= 120,000 %*34024%0.9 36,720,000 &
® 2= JHelat==: 40,0008 +*30021%0.9 10,800,000 &
® Rz HE, EEAHNEZ:80,000&*x2021%0.9 1,440,000 &
@ EX FBeIAEZ=: 70,000 *1024*0.9 630,000 &
@ EX REHE, BEEL ’%4 100,000&*524%0.9 450,000 &
® ZHIE{ 2] & At XHi\”\H 180,000&%4021%0.9 6,480,000 &
® ZHIE 2] ZAH] 20!, SSA: 250,000 #2241 %( 450,000 &
=AM IDILE X Z: 300,00034* 3| 300,000 &
@ dAMAM Y HE: 4,0003*x110F+13] 440,000 &
® 28 AKX L =22 HE: 2,500,0003%13] 2,500,000 &
®© 28 AAMX Y =22 H& ol24H|: 150,0003 %3¢ 450,000 &
® IIHE HA: 270,000 %13 270,000 &
® =HOIAl SA&2ld]l: 110,000& %123 1,320,000 &
® =HOIXl €2d0/=H]: 500,000& %13l 500,000 &
@ s3] JrdJ|& ASHl: 600,000 600,000 &
@ S22 25 AFE X 20,000,000 20,000,000 &
© LEAL WEAS
—=& 2l s 2 AEA oL AlCH, 2FA1HI 10,000 8,000,000 &
— =& 2 = ME=HId] 250,000& x4 3] 1,000,000 &
— Q2|AHOIA& AICHH] 10,0008 *x40F 28| 800,000 &
— Q2|AHOI& CIMH| 400,000& *x2H ]| 800,000 &
— =& HE A, CHE] 12,000 %108 4 3] 480,000 &
O MEN M= T2 A MET|H
— HIA2%E 322 500,000&%258H)| 1,000,000 &
— S ELIAHE M4 500023+x40S*12H& 2,400,000 &
—HAEE 337 200,0008*63] 1,200,000 &
— Mt SIS 5,000&%2,00004 10,000,000 &
S Xl Xl 60CH*100,000& 6,000,000 &




o = 20233 HAE | 202231 HE = roron
20 | 3XEY 0l A e NET= 29

o g = (A) (8) (A8)
— HIEDI 3CH+1,000,0008 3,000,000 &
— WD 2004*400,0002 8,000,000 &
— ME2 9% 5074%80,0008! 4,000,000 &
— MEZ AMOIA £QEAF 2 AH| 500,00020%13] 500,000 &
© MEZ M2 T2 Y MBI
— QIAMA AIZ| AFEF 2HAIH] 10,00021% 1502 %25t )| 3,000,000 &
© MEZ M2 T2 Y MBI
— MS O3 AlTHYI 10,0002*300% *23] 6,000,000 &
— MSHa AZHl 10,00020%100% %23l 2,000,000 2
® JIHAL B 22 A
— BIEIE A 9007H+10,0008 *23] 18,000,000 2
— HE2IA B4 1,9297H%12,0002 23,148,000 &
— M| W= B4 2604%100,0008 2,600,000 2
— M AES, OAEFS B4 94DH*45,00081%25¢))] 8,460,000 &
— SAIZMY I £HUIS 180,0002 1202 2,160,000 2
— Sal2MY | 22lS 200,0002 %207 4,000,000 &
— OIZ M E 100KIE*20,0002 2,000,000 &

SHA{ SR 22729 2,000,00021% 12742 24,000,000 &

© ME oM T2
— ABHER 20A1H| 500,00021%25¢))] 1,000,000 &
—AHAME DF IHSEQAH| 15,0008 ¥2AI 24+ 180,000 &
— MEAME DS ADEH| 300,0002+63] 1,800,000 &
— MHAMZE DS AH 10,0002 %1563 900,000 &
© MAMED DD T2
— AEFEHI0IZ ALTHHI 10,00081%202x25t )| 400,000 2
— 2B 2 BSI| TR AITH| 10,0002 <202+ 400,000 2
— 210181 B SHe B0l AITHYI 10,0009 %202 #2: 400,000 2
— LIZ S0bJb= OHS 018 AlTHHI 10,0002 %1210 2,400,000 2
— LIZ RO0IDh= DHSO018 DI 15,0002 %1228 360,000 2
— LIS RO0IHs S24018 AlCIHI 10,0002 %1510 3,000,000 2
— LS F0bts S0I8 FHISSY| 7,00020+15%) 210,000 2
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o = 20233 HAE | 202231 HE = roron
20 | 3XEY 0l A e NET= 29
o g = (A) (8) (A8)

— Lt2 RO0PH= 012018 AlCEI 10,0002 %1510 3,000,000 &
— LIZ R0Pbe 015018 =H/234| 7,0008+15 210,000 &
— =8I0 QIOIT CHEH Zoks B AITHHI 10,00081%) 3,000,000 &
— QU=EH0| QOIE CHSH BoHs B SIALASIHE 50,0 300,000 &
— B2t 02+ ALCHYI 10,0002 %20 %55 %25 D) 2,000,000 2
— B2t 02t ZHI2FH| 7,0008*202x25t )| 280,000 &
— 9452 DILb= A& ZEIXIRH| 15,0002%20 %65 1,800,000 &
— 91512 DILI= A& AICHE| 10,0002 +20 % *63] 1,200,000 &
2000 2ICI4l AlCHI 10,0002 *36 2 *55|x25t )| 3,600,000 &
— 22ICE AlTHHI 10,0002 402 *63] 2,400,000 &
S2HE BARE 200,0002+63) 1,200,000 2
—JISD NS B FHEY S ALY 10,0002 3,000,000 &
—JISD NS st FHER S DI 5,000 380,000 2

© SH=T o XIS (MEOM Y H DY T2
—SIEA BB, MEH ST PSRRIl 150,0002 ¢ 1,350,000 2
—SIZARE 24| 1,000,0002 4742 4,000,000 &
—H4I| SIS 216l 420,0002 1202 5,040,000 &
—EX IF ACH-CHDHEI 12,0002 %52 %43] 240,000 &
—AlTHYI 10,0002 +7 2 +63] 420,000 &
2HAIH| 2,000 %7263 84,000 2
~THE ZHIH| 250,0002 43| 1,000,000 2
—2 A 75,0002 %23 *23] 300,000 &
—QI AL EIAL QLY ALCHHI 10,0002 %10 %33 300,000 &
—2lQE|0 & AlCHHI 10,0008 x40 %25} 800,000 &
MOl U FEHAG T273 29 2 ARH| 100,0002 * 800,000 2
ol W MEHAG TR 2% 2HAIH| 2,0002 12 480,000 &
—HIAIHE AL Q9IS JIEF 22 2 3,000,000 3,000,000 &
—3HTH CHII Z21H| 2+Al, & 4-0HH] 500,000 500,000 &
—AEAM 2B LA, 222, AHHIS 1,000,00 1,000,000 2
—gtol 2 ADE 100,000 1202 1,200,000 2
—2ed E (20D AltH, 24 & 8 AEH 1,000,000 2

48/57




o = 2023391 | 202239 = = 7 ron
20t | 3REZ ol At oy ME2H 39

o g = (A) (8) el
—Q8HM J|E 3120 WS YAZ, AHHIS 2,000,0C 2,000,000 &
—212s 2 Ed0lY ZAE, ATHIS 500,0002 500,000 &
IS0 oSS 98 LY STH|, DM, A0 1,000,000 2
—&200] /G4l AlTHYI, 2FALEI 1,000,0002 1,000,000 &

B2:  1,280,173,000
4330 YA Z2H] 1,082,400 1,251,400 169,000
4331 473,000 604,707 A131,707
YAl ® YSIAREHO NN (EM L)

— 2 Al-TH2IZ 8! 4,000,000 4,000,000 2
© istel LAY XIS
— ZH 4% 102+100,0002 1,000,000 2
® USALAODEALLY(LS4T)
— %A TH2I= 8! 19,000,000 19,000,000 2
— HA-ZII27 8,000,000 8,000,000 &
— ® 2l 1,000,000 1,000,000 2
® 2= 22 30%+1AI2HE+100,0008! 3,000,000 &
© USIADEG DA AL (BISD)
— 2= A" TH2I= 2! 100,000,000 100,000,000 &
—+ BAI-Z=II23 24,000,000 24,000,000 &
—+ B2l 11,000,000 11,000,000 &
© Bt 22 WS 10B+100,0008! 1,000,000 2
® BOF 4G AJ|,8F ®I| 60Y*200,0008 + | 21,000,000 &
© YSADRA O DA ALY (FH|- D)
— %Al T2l =81 70,000,000 70,000,000 &
—+ BAI-Z=Jt2& 50,000,000 50,000,000 &
—+ B2l 15,000,000 15,000,000 &
® ZFH| - M 2 ®I| 25%*55]x200,0008 + 27| 34,000,000 &
® USIADAG DAL (M AULT)
— %Al 22 20,000,000 20,000,000 &
— I Al =2 10,000,000 10,000,000 2
— 293, 823 S 60,000,000 60,000,000 &
® YSARHO DALY (3]22Y)
— 2 A T2l =81 5,000,000 5,000,000 &
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ot = 20233 AT | 202231 = 7 ron
= At | 3XIEH O ArH Soss AE2H 29
o g = (A) (8) G
— X A-Z=JI22 4,000,000 4,000,000 &
® 319 A% MJ| 15%%35/%200,0008 + S| 15%+ 12,000,000 &
BHI: 473,000,000 ¥
4332 609,400 646,693 ~37,293
oAl I © AlLHQIE Q& 28 B ALY | (2EH])
— oiErI Al 23] 35,000,000 35,000,000 2
— oigtelatE HEEtE| 18,000,000 18,000,000 &
— 2 AlBH2EE|EOIH] 2 2% H| 7,000,000 7,000,000 &
— HAISH2EE| &I 2 22| 5,000,000 5,000,000 &
— =2, NEZD 10,000,000 10,000,000 &
— %A 27 10,000,000 10,000,000 &
—SNS 2291, JIE 2D 30,000,000 30,000,000 &
® Al-HQE DX ME BE AF(3]2H])
— M8 TE B 3|9 4,000,000 4,000,000 &
— SR ZEINE 22 5,500,000 5,500,000 &
—GiF U A DA 2HEH 2,000,000 2,000,000 &
— DAFKHREFS] 2] 500,000 500,000 2
® AlLHQS DX MY 2 A (UDRE LA Z)
—ostz|Z2 08 QX E4 36,000,000 36,000,000
— AJIRE X 24 5,000,000 5,000,000 &
—SINEL 222 120,000,000 120,000,000 2
—ADJ|EI}, SREE, JIEFLAIL 2R 21,000,000 21,000,000 &
—SMSES HREIIAIAE 6,000,000 6,000,000 &
® Al-HQS DX SE BE ALY || (222 R)
— DR AN L L= 13,000,000 13,000,000 &
— TAE BITE 15,000,00 15,000,000 &
— MEOHHXIZ M=E 9,000,000 9,000,000 &
©® AlLHQIE QA S8 BE ALY || (Q144H])
— AARER2 Y 2 2H 30,000,000 30,000,000 2
—HAREQZ Y 2 UH 30,000,000 30,000,000
HUOXG2 Y 2 2H 8,000,000 8,000,000 &
— JIE+ ©1AH] 13,000,00 13,000,000 &
® AlL-HQE DX ME 2 AL(KI2 )
— 222 2,400,000 2,400,000 &
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20233 A A =

20223 A

-V & = A 2+0H _
= 0flAr | 3XIEZ Ol At =os AE2H 2 o
o g = (A) (B) G
O EPEEEREEEENEIREETD
— 2 AABE 10,000,000 10,000,000 &
— HAIABE 7,000,000 7,000,000 &
— B AQE 3000,000 3,000,000 &
— JIEFABE 1,000,000 1,000,000 &
® AlL-HQE DX M 2 ALY (22R22)
—2EQ2 1,500,000 1,500,000 &
— =£AI22 3,000,000 3,000,000 &
— AIAAIR 22 Q2 10,000,000 10,000,000 &
® Al-HQIE DF ME ZE A (AH])
— 2 AIAIH & 2FAL 20,000,000 20,000,000
— HAIAIH] & 2HA 12,000,000 12,000,000 &
— BQIAIH| & 2FAI 1,000,000 1,000,000 &
— JIEFALH] 5,000,000 5,000,000 &
©® ALHQS QX =8 o AMY (1 (0H])
— 2 Al 22 40,000,000 40,000,000 &
— HAl 22 20,000,000 20,000,000 ¥
— B2 g 1,500,000 1,500,000 &
— Y HYs|, e 2SR S 0iH| 25,000,000 25,000,000
©® ALHQS DX ME B A (ZXE)
— =32 300,000 300,000 &
® ALHQE DX ME B A (AEAZE)
— B E |2 AILAFRE 5,000,000 5,000,000 &
—2ABHY SAHIE, EH2 S 3,500,000 3,500,000 &
® S UBIES 45+800,000 + =J} UBIAS 42 5,200,000 &
B 609,400,000
4400 DSQUHIE 11,001 772,924 AT761,923
4410 XI20| Xt - - -
4411 _ _ _
WELDY
BHI: - g2
4420 JIEt R EQAH 8 11,001 772,924 AT761,923
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o =2 20235/ HAE | 20228 A C = A 2tol )
= Ol aroH RPN E=T 1. (Fa gel N MEZH = 9
o g = (A) (B) B
4421 11,001 772,924 NT761,923
Tl ® B=ZER 1,0002 1,000 &
© &4
— JIEF &4l 1,000,0002 1,000,000 &
@ &£=4 10,000,000 10,000,000 &
©® (E2ZHId s S22 670,0008x1% +
gl 11,001,000
4500 =2 = = =
4510 &2 = = =
4515 - - -
S8 HEE2
Al - &
4516 - - -
MAEPSE—=
Al - &
Hi 29,639 52,990 N23,351
4610 0llBI Y| 29,639 52,990 N23,351
4611 29,639 52,990 A23,351
oyl gl @ JI=™ st sE=2 A oiglglzel olglgl - 10,1 10,087,000 &
@ JIEld A8l SE=22 A olglgl2el olelyl -4 4,130,000 &
@ JI2d Y SE3 A oigiglzel olglgl 3,01 3,000,000 &
® DI X JI=AFS S H olHIHI=22] oildlb] : 3,000 3,000,000 &
@ J2d MtEMNEASEHS A olylbl2el oy 3,000,000 &
® JIEH HE2I|SAISHE A oldib =2l 01|l:||tj| 3,000,000 &
@ J|I2 X dst=JASEL3H olgldl 22 oy : 3,000,000 &
@ JIEH NeAAHMN = OEmﬂN@MMHEW 422,000 &
gl 29,639,000
1200 EXAD|EFAFAX = 14,600,993 3,025,874 11,575,119
1220 EXLKHAKI Z 200,000 110,000 90,000
1221 - - -
ENRIISHMLH
2Pk -
1224 - - -
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o = 2023391 | 202239 = = A toH
20t | 3REZ ol At oy ME2H 39
o g = (A) (8) el
ST RERNKE
BH: - 9
1229 200,000 110,000 90,000
JIEFE RERHA R & ® JIEI SRR E
—THeH YHESZ 42 50,000,0008 50,000,000 &
® JIEFERRHA X B
—AEE2 42 150,000,000 150,000,000 2
BH: 200,000,000 %
1240 JIEFXHAXI = - 63,687 /63,687
1242 - - -
SIPVSEF=INE
BI: - 9
1243 - - -
e=SPlIs I EPNE
B: - 9
1249 - 63,687 163,687
JIEFRH A RI &
BH: - 9
1250 A2 2 =JI2 X2 - - -
1252 - - -
AgeEcalaNy
BH: - 9
1253 - - -
AZREAEI|IZNEY
BHA: - 9
1254 - - -
AZRERSI|IZ
BHH: - 9
1255 - - -
ABPESISN)|ISHY
BH: - 9
1260 o= X2 14,400,993 2,852,187 11,548,806
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= 20233 AT | 20223 = 7 ron
- = 0 Ak 3XIEA Ol At g =) =
o g (A) (8)
395,350 141,300 54,050
olo|1 )| 2 ® 2o )2 A
—0| &t 372,000,000 372,000,000 &
—SH2HOIME2 N 23,350,000 23,350,000 &
BHI: 395,350,000 &
10,830,100 1213,784 9,616,316
® AoAHEI 2T
—0I &t 1,738,000,000 1,738,000,000 &
— 2 HOIMEZ % 92,100,000 92,100,000 &
—ASE 2JbA2EoH 9,000,000,000 9,000,000,000 &
B:  10,830,100,000 &
1264 223.570 221.830 1,740
10| &5t 2 A 2 ® 2o 2HE
—0| X} 3,300,000 3,300,000 &
— S ZHOIHE 2N 270,000 270,000 &
® O|&EH)|2 =2l 220,000,0008 J| £ 0| X} 220,000,000 &
BHAI: 223,570,000 #
ololg| x| 2
BHI: - 9
2,951,973 1,275,273 1,676,700
MJ|2xY ® =2X7|2=
—0| X 1,800,000 1,800,000 &
— 2O B2 170,000 170,000 &
O EEES EPEEE
—0l X} 67,900,000 67,900,000 &
—SAZHOINE BN 4,110,000 4,110,000 &
® QO ENMSHI I (HER XIS 221,004,000 221,004,000 &
® NKOITPIEE)| 2
—0| X} 1,577,500,0002 1,577,500,000 &
— 2Ol E 2 86,600,000 86,600,000 &
—[E HIS =235 =22 992,889,000 992,889,000 &
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ot = 2023391 | 202239 = = 7 ron
20t | 3REZ ol At oy ME2H 39
o g = (A) (8) el
82:  2,951,973,000 #
1300 DB XA HAXIE 1,178,384 1,751,769 573,385
1310 RS DI XA I X & 1,178,384 1,751,769 573,385
1311 1 34,686 134,685
EX 0L ® 1==3 1,000 1,000 &
=0 1,000 &
1312 1 1 -
A0 ® B2E 1,000 1,000 &
BI: 1,000 &
1313 1 1
=20yl 1,000 &
BI: 1,000 &
1314 909,880 1,210,420
1M1 R bl Ab D101 REHRIIELB S 183,780, 183,780,000 &
AP DI RS2 IIELR E 726,100, 726,100,000 2
BHA: 909,880,000 %
1315 18,001 48,700
ZDIHIZ 0l ® 1,000 &
® Chers M TR AL 8,000,0002 8,000,000 2
® IIHIZ 04 10,000,0002 10,000,000 &
BH: 18,001,000 &
1316 - 28,000 28,000
Tegres eyl
B: - 9
1317 - - -
EATL]
BH: - 9
1318 - - -
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o =2 20235/ HAE | 20228 A C = A 2tol )
= 0l Ao 3XI=Y Ol Ao =oBss AE2H 2 o
o g = (A) (8) G
geARS YUY
BHI: - 2
1319 250,500 429,961 ~179,461
HAEIHH ® S A =XE N
— SSHHA =XE HL S5 24| 10,000,000 10,000,000 &
— SSHA T WLHAG 22 150,000,000 150,000,000 2
©® SAIHE
— TAIHE HSRASE ZEHSHH L AAH A 90,000,000 &
— SAIHSAIZAIIBZ 2421 015|022 2 500,000 500,000 2
BHAI: 250,500,000 &
2200 D& S A S 1,600,000 1,558,000 42,000
2210 O X 2 A & - - -
0221 - - -
XI|x 248
BHI: - g
2220 JIEf U & S AL 1,600,000 1,558,000 42,000
0221 1,600,000 1,448,000 152,000
A es=az ® AN H LHEZE2 BHat 50,000,000 50,000,000 2
® Herelgl AHE =2 &2 1,550,000,000 1,550,000,000 &
BHI: 1,600,000,000 &
2229 - 110,000 A 110,000
JIEFDE 2 7 0| A &
BHI: -2
= X = 8 A 69,318,314 | 52,645,812 16,672,502
INESSINERNEN - - -
1100 )L S S KA — 10,000 210,000
1110 - 10,000 ~10,000
ssx2
BHAI: -2
1120 - - -
JIELS S KA
BHI: - g
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